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Choose a suitable death for him - 7D0 IO W M2

Overview

The reason we do not kill the murderer with a y°917 and 77w 211 is because the
P00 states! > T¥1? NAAXY and as MAX 92 727 MR A 27 expounds the 709 to
mean 779 7i°1 12 N2, Our Mo0IN explains why we cannot take this a step further.

n9oIn responds to an anticipated difficulty:?
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However from this reasoning (of 79> nn 1% 7172) we would not have known
that he must be beheaded from the 9R3x, for if they would stab him in the heart

with a knife, that would also be considered a 7153 710, Therefore we need wan anx
from 71917Y 793V to teach us that it is IR 1.

Summary
Stabbing in the heart is also considered 719> > 1% 2.

Thinking it over

1. Does this mooIn strengthen or weaken the question posed in the ‘Thinking it
over’ of the previous Wwp17 7"7 NMdOIN?

2. Is the concept of 715° fin°» that he is not defaced (71°12), or that he dies quickly?

Um0 (@w1Tp) P
2 Seemingly we can derive from this T12°% of 79° 0" 12 7172 that it needs to be XX 1, otherwise it would not be a
79 7 (so why do we need 7yan anRY of 7917 773 to teach us NI 10).

TosfosInEnglish.com



